
AP Calculus BC 

Infinite Series 

Alternating Series 

Name _________________________________ 

Determine the convergence or divergence of the series. 
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Approximate the sum of the series by using the first 6 terms. 

19.  

1

2
1

( 1) 3
n

n n

+∞

=

−
∑   20.  

1

1

( 1) 4

ln( 1)

n

n n

+∞

=

−

+
∑   21.  

0

( 1) 2

!

n

n n

∞

=

−
∑    22.  

1

1

( 1)

2

n

n

n

n
+∞

=

−
∑  

 

 

How many terms are needed to approximate the sum of the convergent series with an error less than .001. 
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Determine whether the series converges conditionally, converges absolutely, or diverges. 
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Find the values of p for which this series converges 
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